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HAVE CONTROL — HAVE PATIENCE — HAVE CONFIDENCE = 100% SUCCESS
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(BEWARE OF NEGATIVE MARKING )

Chameli Devi Award is given to an outstanding
woman, who is a :-
(1) journalist

(3) lawyer

(2) vocalist

(4) scientist

Which river carries maximum quantity of water
in the world ?
(1) Amazon (2) Nile

(4) Thames
'Octopus' is an anti-terror agency of :-
(1) Andhra Pradesh (2) Kerala

(3) Karnataka (4) Gujarat

Megger is an instrument to measure :-

(3) Mississippi

(1) very low resistance

(2) insulation resistance

(3) inductance of a coil

(4) all of the above

The lateral meaning of the word 'Arya’ is :-

(1) Warrior (2) Superior

(3) Priest (4) Learned

A deep and narrow river valley with steep bank
is called :-

(1) canyon (2) bluff

(3) delta (4) geyser

The compilation "Meri Ekyawan Kavitayen"
is by :-

(1) Dharam Veer Bharati

(2) Harivansh rai Bachchan

(3) Atal Bihari Vajpayee

(4) Shivmangal Singh Suman

Which of the following monuments was earlier
known as 'All India War Memorial' ?

(1) Charminar (2) Lal Quila

(3) Gateway of India (4) India Gate
Which one among the following does not have
an allotrope ?

(1) Oxygen (2) Nitrogen

(3) Sulphur (4) Carbon

Which one among the following water-borne
diseases is not caused by a bacteria ?

(1) Bacillary dysentery

(2) Typhoid

(3) Cholera

(4) Hepatitis-A

1.

10.

fora & T 1RO e ohid o ot wfeet =1 =it

ot qrERR fea e © -

(1) TR (2) TEw

(3) TRt (4) SR

7 ¥ e T | 9 A eifueran 2
(1) T8 (2) ¥a

(3) Tafadidt (4) 29

‘ SRIY ' foh ToT KT ATdhare faRie Tot ® -
(1) 3T g2 (2) HTA

(3) FHAEH (4) Tod

R Teh SUHIU € FST8eh gRI A191 7 © :-

(1) 9gd %A Jfay

(2) & gty

(3) HUSEl HT Y

(4) ST gt

‘ad’ vTe R UTRd 379 ¥ -

(1) 3T (2) ISR

(3) g (4) fegr

Teh Tt 7R Tehdt -1t =met foreeh foham aIgd eyt
%ﬁ%,s@amam%:—

(1) &= (2) TR

(3) B (4) TSR

‘T 3RII hiadd’ 1 GUE & @& © -
(1) gHeR 9t

(2) @ T T

(3) 31ed ol arsTust

(4) foremma fog gm

frafafed 8 9 Y SRS & e &ffd sfean ar
THIRTe’ el ST o1 ?

(1) SHAR (2) o Tohem
(3) 123 3% sfrea (4) sfoea e
frefafed § 9 fwdeh s 9%y 76l &2
(1) 3tedts= (2) eSS
(3) FTH (4) HTeA

Frrefarfed 9 AT STa-Sid T SHaTei s SR
& B §?

(1) et SEE=t

(2) TEHES

(3) e

(4) BUersfey-A
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After Subhash Chandra Bose resigned from the
presidentship of Congress in 1939, who became
the Party President ?

(1) Rajendra Prasad

(2) Maulana Azad

(3) Jaya Prakash Narayan

(4) Pattabhi Sitaramayya

Who is the founder of the Arya Samaj ?
(1) Swami Vivekananda

(2) Swami Dayanand

(3) Swami Agnivesh

(4) Pandit Vishnu Shastri

Which author of Indian origin was born in the
Caribbean Nation of Trinidad and Tobago :-
(1) Salman Rushdie

(2) V.S. Naipaul

(3) Shashi Tharoor

(4) Nirad C. Chaudhari

Which is the second highest civilian award in
India ?

(1) Bharat Ratna (2) Padma Shri

(3) Padma Bhushan  (4) Padma Vibhushan
Who was the first Indian Prime Minister to lose
an election :-

(1) Lal Bahadur Shastri

(2) V.P. Singh

(3) Morarji Desai

(4) Indira Gandhi

Kashmiri Stag is also known as :-

(1) Hangul

(2) Sambhar

(3) Chital

(4) Nilgai

Surface of which gemstone is called 'Orient':-
(1) Amethyst (2) Diamond

(3) Emerald (4) Pearl

Where does the river Ganga Originate :-
(1) Gangotri (2) Yamnotri

(3) Kedarnath (4) Gaumukh
Helsinki is the capital of :-

(1) Finland (2) Sweden

(3) Norway (4) Denmark

Which of the following countries is the largest
rice producing Nation in the word ?

(1) Australia (2) China

(3) India (4) USA

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

1939 § Y =5 919 @ HUE & AT TS 9
IS 2 & ag, F 9§ fRa il & s1eAe
ERIRIRIE |

(1) TS5 991

(2) AT 3TSE

(3) ST WehTST AR

(4) Tty HrarEe

e TS & TS ST 9 ?

(1) Gt fagerr<

(2) @t T

(3) Tt AT

(4) dfeq foso smeht

AR Tl o Fohd TRerh o1 ST hiferas g Fiferg
TG e | gew o ?

(1) Ge™H Wt

(2) .ug. At

(3) of¥r o&T

(4) T gt.ae

TR hT I Tl AR TR I & ?
(1) 9Ra T (2) TH =
(3) TEH o (4) TeH fasem

=1 # @ 98 Teet IR geHEst e 9, 9= ga
T R T GEAT LT 98T 2

(1) O SBIGT I

(2) atdt. fag

(3) HRITSH <@g

(4) sfequ ek

HYHER &0 1 38 AW 9§ off S S © -
(1) &

(2) TR

(3) dad

4) e

11 5 & ffg W@ *T Hag w1 el FHa S §?
(1) SHfa (2) g

(3) 9= (4) Hrdt

T AT T ST T A -

(1) T (2) FA

(3) e (4) 7@
Tafdent fre <2 1 T9EM © -

(1) frreive (2) TeA

(3) td (4) ST

forgd | hI9H1 391 =T H FIH IST IcASh
7?2

(1) Ar=Lfer=n
(3) YIRA

(2) =+
4) =TaRe
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100 ml aq. solution of glucose with osmotic

pressure 1.2 atm at 25°C is mixed with 300 ml

aqg. solution of urea of 2.4 atm at 25°C. The

osmotic pressure of mixture is :-

(1) 3.6 atm (2) 1.8 atm

(3) 1.68 atm (4) 2.1 atm

Which statement about the composition of

vapour over an ideal 1 : 1 molar mixture

of benzene and toluene is correct ? Assume

the temperature is constant at 25°C. Vapour

pressure data (at 25°C) :-

Benzene — 75 mm Hg,Toluene — 22 mm Hg

(1) The vapour will contain higher percentage
of benzene

(2) The vapour will contain higher percentage
of toluene

(3) The vapour will contain equal amounts of
benzene and toluene

(4) Not enough information is given to make
a prediction

How many coulomb of electricity would be

required to reduce the iron in 32.9 g of

potassium hexa cyano ferrate (III) K,Fe(CN),

to metallic iron ? (at mass of K = 39, Fe = 56)

(1) 289500 C (2) 28950 C

(3) 9650 C (4) 19300 C

Given that abundances of isotopes 54Fe,

56Fe, and 57Fe are 5%, 90% and 5% respectively,

the atomic mass of Fe is :-

(1)55.85u (2) 5595 u

(3)55.75u (4) 56.05 u

A compound of Xe and F is found to have

53.5% Xe. What is the oxidation state of Xe in

this compound ? (atomic mass of Xe = 131 and

F=19):-

(1) -4 2)0

3) +4 (4) +6

A gaseous mixture containing He, CH, & SO, was

allowed to effuse through a fine hole then find

what molar ratio of gases paning out initially ? If

the mixture contains He, CH, & SO, in1:2:3

mole ratio :-

12:2:3

G)N2 2 :3

2)6:6:1
“4)8:4:3

21.

22,

23.

24.

25.

26.

25°C W TeehTE s 100 ml STeft forer@ra 1 oo
T 1.2 atm ¥ 1 38 25°C W IR & 300 ml Seia
forerer ferent TR gTel 2.4 atm ¥, foemn S g
fasror 61 WE T © -

(1) 3.6 atm (2) 1.8 atm

(3) 1.68 atm (4) 2.1 atm

25°C WA AL 3T & 1 : 1 HIoR Th e
fago & SR 9y & Ao & faw s wem
& §2 O A" 25°C 79 ® 1910 <@ % "
25°C WX :-

oS — 75 mm Hg, 21qsT — 22 mm Hg

(1) =759 | S=i9 o Ffawrad S== et

(2) aTs H 2T st gl s1feres gt

(3) aTSY H S=A T IeTe i SRIER |1 Bt

(4) ¥EE o & faT i w7 St

TS
32.9 7T G T "l B (1) K Fe(CN),
T AA & oifdsd RRT § 9=t i &
fau foay wam faga =t smavaskar a2
(] = K = 39, Fe = 56)
(1) 289500 C (2) 28950 C
(3) 9650 C (4) 19300 C
& % 54Fe, 56Fe, @1 57Fe %1 U9l SH9T: 5%,

90% A 5% | Fe 1 Y] SHM ¥ :-
(1) 55.85 u (2) 55.95 u

(3) 55.75 u (4) 56.05 u

Xe TN F 3 T AT 9 53.5% Xe ¥ 39 AT
H Xe T TR ST 1§ | (LAY SHH
Xe = 131 @M F = 19) -

(1 -4 @20

(3) +4 (4) +6

He, CH, SO, & 4= fismn =1 ts w2 fog &
9.9 e S 8 @ e o7 Al T faso
T T HieT ST 1 Y ? AfS fasrr 8§ He, CH,
& SO, 1 Hiek ST 1 :2 : 3 &-

(1)2:2:3 2)6:6:1

G)N2 ;7 :3

“4)8:4:3
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Determine C—C & C-H bond enthalpy (in kJ/mol)

Given AH°(C,H

AH(CH

g) = -85 kJ/mol

¢ &) = —104 kJ mol
wubtimation (G, S) = 718 kJ/mol

Bond energy (H — H) = 436 kJ/mol

(1) 414, 345

(2) 345, 414

(3) 287, 404.5

(4) None of these

For the process H,O (/) (1 bar, 373 k) —

H,O(g) (1 bar, 373 k), the correct set of

thermodynamic parameter is :-

(1) AG =0, AS = +ve
2)AG =0, AS = - ve
3) AG=+ve, AS=0
4) AG = —ve, AS = +ve

The rate constant, the activation energy and the
Arrhenious parameter of a chemical reaction at
25°C are 3.0 x 10 s7!, 104.4 kJ mol™! &
6.0 x 10'* s7! respectively. The value of the rate
constant as T — oo is :-

(1) 2.0 x 10" 5! (2) 6.0 x 104 s

(3) © (4) 3.6 x 10° s

pH value of which of the following is not equal

6°

to one :

(1) 0.1 M HNO,

(2) 0.05 M H,SO,

(3) 0.1 M CH,COOH

(4) 50 cm’ of 0.4 M HCI + 50 cm’ of 0.2 M NaOH
The Ksp of Agl is 1.5 x 107'® on mixing equal
volumes of the following solutions precipitation
will occur only with

(1) 107 M Ag* and 107" MI”

(2) 107" M Ag* and 107 MIT

(3) 107" M Ag* and 107" MI”

(4) 10° M Ag* and 10”° MIT

The aqueous solution of which of the following
salt has the maximum pH :-

(1) KCIO, (2) KCIO,

(3) KCIO, (4) KCIO

Which of the following is the strongest base :-
(1) C,H,COO" (2) CHS

(3) C,H,O" (4) OH™

27.

28.

29.

30.

31.

32.

33.

C-C d C-H =1 &Y St (kJ/mol) Td
g AH(CH, g) = -85 ki/mol
AH(C,H,, g) = -104 kJ mol
A, _H°(C,S) =718 kl/mol
amay s (H — H) = 436 kJ/mol
(1) 414, 345
(2) 345, 414
(3) 287, 404.5
(4) S | ¥ HE TG
H,O () (1 bar, 373 k) > H,0(g) (1 bar, 373k)
W BY SHEARTIAh I =1 1 Tel THE (set) I &
T-
(1) AG = 0, AS = +ve
(2) AG =0, AS = — ve
(3) AG = +ve, AS = 0
(4) AG = —ve, AS = +ve
fees 25°C WX 3.0 x 10 571, 104.4 kJ mol! T4
6.0x 10" s HH: B T —> o0 WX Fciieh T A B2
(1) 2.0 x 108 s-! (2) 6.0 x 10 s
(3) (4) 3.6 x 103 s
Eﬁ@mﬁwﬁﬁpHaﬂﬂﬁlﬁ%:
(1) 0.1 M HNO,
(2) 0.05 M H,SO,
(3) 0.1 M CH,COOH

(4) 50 cm® of 0.4 M HCI + 50 cm’ of 0.2 M NaOH
Agl &1 faerar ToHwEe 1.5 x 1076 1 == i w3
ToreTari oh1 T ST e T ST had fohad
9T B

(1) 107 M Ag* and 10° M

(2) 107 M Ag* and 107 MI

(3) 1076 M Ag* and 10™'® MI

(4) 10° M Ag* and 10° MI

frfafea § 9 forg oau & Sefg faeed &1 pH
arfereRam ¥ ;-

(1) KCIO, (2) KCIO,
(3) KCIO, (4) KCIO
= § 9 S gaifs i © -
(1) C,H,COO" (2) C,H,
(3) C,H,0 (4) OH"

Yewr Target i to secane Good Rank in Pre-MWedical 2015

|E/H




3s.

36.

37.

38.

39.

(E/H/J

MAJOR TEST : AIIMS

CAREER INSTITUTE

PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE

29-05-2013

In A*B ionic compound radii of A* and B~ ions | 34. A*B~ eTafe Jifies § A* qen B~ 11 &t Framd
are 180 pm and 187 pm respectively. The crystal HEY: 180 pm T 187 pm T Tl 30 ATk 1 fohtea
structure of this compound will be :- TLa1 B -
(1) NaCl type (1) NaCl type
(2) ZnS type (2) ZnS type
(3) CsCl type (3) CsCl type
(4) Similar to diamond (4) Similar to diamond
Which of the following solution can act as buffer:- | 35. fF=fafead YT fIeTT TR St T 1 I §
(1) 0.2 molar aq. NaOH + 0.1 molar aq. HCI (1) 0.2 molar aq. NaOH + 0.1 molar aq. HCI
(2) 0.1 molar ag. NH,OH + 0.1 molar aq. HC] (2) 0.1 molar aq. NH,OH + 0.1 molar aq. HC]
(3) 0.2 molar aq. NH,OH + 0.1 molar aq. HC] (3) 0.2 molar ag. NH,OH + 0.1 molar aq. HC]
(4) 0.1 molar ag. NH,OH + 0.2 molar aq. HC] (4) 0.1 molar aq. NH,OH + 0.2 molar aq. HC]
When excess of SnCl, is added to a solution of | 36. afg SnC12¢ e =t HgClzﬁWﬁﬁWEﬁ
HgCl, then final product is :- @ SAf<H Icurg B :-
(1) Hg,Cl, (Grey) (1) Hg,Cl, (Grey)
(2) Hg (White) (2) Hg (White)
(3) Hg,Cl, (White) (3) Hg,Cl, (White)
(4) Hg (Grey) (4) Hg (Grey)
Which of the following shows maximum | 37. FiTar Aifre rfusan TR IIar g ar
paramagnetism :- T -
(1) [Cr(NH,) I, 2) [NI(CN), I (1) [Cr(NH,)ICT, 2) [NI(CN), I
(3) [Ag(NH,),]Cl (4) [Fe(CN) J™* (3) [Ag(NH,),]Cl (4) [Fe(CN) J™*
A MO, TH o iecolourises pink colour 38. A MO TH At 1 ME

(Colour less salt) (RTEN qT)

I X +Y+2Z Lo x4y 47

Y T
Z—°B 7m0 . p
Gas Y + B — milkiness, Gas Y + B — gferamm,
Gas ‘X’ burn with Blue flame then correct choice Ffg I <X el SeTer & WY Serdt 8 O JE W
is :- T -
A X Y Z B A X Y Z B

(1) | CaCO,; | CaO | CO |CO, | H,CO, (1) | CaCO,; | CaO | CO |CO, | H,CO,
(2) | CaC,0O, | CO | CO, | CaO | Ca(ORH), (2) | CaC,0, | CO | CO, | CaO | Ca(ORH),
(3) | CaC,0, | CO, | CO | CaO | Ca(OH), (3) | CaC,0, | CO, | CO | CaO | Ca(OH),
(4)| CaSO, | SO, | O, |CaO | Ca(OH), (4)| CaSO, | SO, | O, |CaO | Ca(OH),
Dimethyl glyoxime is used for the test of ........ in | 39. &I H R A TS ST fohdeh wierm
alkaline medium :- T IR B 7 -
(1) Cobalt (2) Zinc (1) Cobalt (2) Zinc
(3) Nickel (4) Mangnese (3) Nickel (4) Mangnese

( Frslt 9 W W T FH T 1)
|
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One mole of the aquous solution of complex
CoCl,.4NH, passess through anion exchange
resine and resulting solution treated with excess
of AgNO, then correct statement :-

(1) 1 mole AgCl ppt formed

(2) 2 mole AgCl ppt formed

(3) 3 mole AgCl ppt formed

(4) No ppt formed

Which pair of molecule have identical shape :-
(1) CF, & SF, (2) XeF, & CO,

(3) PF, & IF, (4) BCL, & PCl,

In Mn,(CO),, EAN of Mn is :

(1) 36 (2) 35 (3) 34 4) 33
Which is used as depressant in froth floatation
process :-

(1) Pine oil

(2) Amyl xanthate

(3) Copper sulphate

(4) Potassium cyanide

Which can shows geometrical isomerism :-

(1) [Zn(NH,)(H,0)(B)I]

(2) [Pt (en),]”

(3) [PA(NH,),CL)]

(4) Both (1) and (3)

+ NaOH,,, ——> Pale blue ppt

4 (aq) (aq)

NH

3(aq)

. dil
Pale blue solution <€———— Intense blue colour

i

HNO,
The pale blue solution is :-
(1) Cu((OH), (2) [Cu(NH,),]”
(3) [Cu(H,0),1” (4) Cu(NO,),
Which can not gives chromyl chloride test :-
(1) Copper chloride
(2) Anilinium chloride
(3) Corrosive sublimate
(4) Carnallite
Incorrect statement is :-
(1) In s-block element (n-2)f & (n-1)d orbital not

filled

(2) Eka mangnese is synthetic element
(3) Density of Hg is more than Os
(4) [Xel4f™ 5d"%6s' is d-block element

40. 4fg % W e CoCl, 4NH, 1 Romafieh
fafrrres WA @ TSR L 91t faeraa 7 AgNO,
e faem W T e g9 -

(1) 1 9t AgCl STa8Y 1 §
(2) 2 A AgCl STa8Y T §
(3) 3 Hicd AgCl STa8Y T §

(4) T T TE T T
41. HFY ] HT ITH TAF SFH(d T T :-
(1) CF, & SF, (2) XeF, & CO,
(3) PF, & IF, (4) BCL, & PCl,
42. Mn,(CO),, § Mn % EAN &:-
1) 75 (2) 25 (3) 100 (4 10
43. = wed fafy § s S9de SEn ygEd g
T -
(1) =g =1 7
(2) T Sigfe
(3) TR TThe
(4) defom wEEEe
44. HH EfEfaE qHEFS ST § ;-
(1) [Zn(NH,)(H,0)(Bn)]I]
(2) [Pt (en),]*?
(3) [PA(NH,),CL,]
(4) SH (1) T (3)
45.

CuSO — 5 gl il @&y

lNHS(m])
dil

gopl el faderad Wm:ﬂ?ﬂ'\;'ﬂ

goeh] el foretam B ;-
(1) Cu((OH), (2) [Cu(NH,),]*
(3) [Cu(H,0),]* (4) Cu(NO,),
46. I HIfH FAES THIT & AT ;-
(1) IR FIES
(2) Tfaf=m FIREe
(3) HRIfe wfsrie
(4) HHeTEE
47. D HIAE -
(1) s-=dATeh el | (n-2)f T (n-1)d &7 &l W=
(2) TenT WS Hfom dc §
(3) Hg &1 e Os & 1fere 2 ©
(4) [Xe]4f" 5d'%s' T d-scATeh aca §

+ NaOH

4 (aq) (aq)

Your Target io to secarne Good Rank in Pre-TWedical 2015 |E/H
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CH~_ ,O-CH,
C

48. _H0° J A4 B

CH” NO-CH,

A gives iodoform test. 'B' is heated with excess
of H-1. then 'C' is obtained A and C are :-

(1) CH~G-CH, , CH,~CH,1

0
) CH,-C-CH, . CH-CH,
I I
(3) CH:~CH-CH, , CH,-CH,-1
OH
(4) CH-CH-CH, , CH,
OH CH,

29. @ + CH-OH — 9
0
e
(1)
0
» L
@ No~och,

OH
o (J
0

(4) HO-CH,~(CH,),—O-CH,

50. C,H.~CH,~CH(OH)-CH,—CH, lzw A Hz(l\llri]/lzle) B

H®

C KMnO,/A

(1) C,H.-CH,—~COOH
(2) C,H.,CH,—~CHO
(3) CH~C-CH,-CH,~CH,

4) C.H~COOH
51.  1-Bromo-1-phenyl propane+ Csz(_)f\ia - A;;C]ir) ?
(1) Ph—CH,~CH-CH, ’
Br

(2) Ph—CH-CH,—CH,

Br
(3) Ph-CH-CH-CH,+ C,H,Br

On
“) Ph—ClH—CHz—CHﬁCzHSOH

48.

49.

50.

51.

CH~ ,O-CH, i
7 _10° A4+ B
CH” NO-CH,

A STETSIEH Ter <ar § B! 1 H-1L & enifus
% Y TH HE WC T gl A, C® :-
(1) CHs—ﬁ—CHS , CH,—CH,-1

(2) CH3—ﬁ—CH3 ’ (I:Hz_CI:Hz

o) 1
(3) CH:~CH-CH, , CH,-CH,-1
OH
(4) CH-CH-CH, , CH,
OH CH,

@ + CH,-OH — 59
0
e
(1)
0
» L
@ No~och,

OH
o (J
0

(4) HO-CH,~(CH,),—O-CH,

H’Jv
- A H1mole) B

CH,~CH,~CH(OH)-CH,~-CH, NVA

H’Jv
C KMnO,/A

(1) C,H.-CH,—~COOH
(2) C,H.CH,—~CHO
(3) CH~C-CH-CH,~CH,

4) C.H~COOH
1-Bromo-1-phenyl propane+ Cszf)I—\Ea - A% ?
(1) Ph—CH,~CH-CH, N
Br
(2) Ph—CH-CH,—CH,
Br
(3) Ph-CH-CH-CH,+ C,H,Br
OR
“) Ph—CIH—CHz—CH3+C2HSOH
Br

Br
(E/H|
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53.

54.

MAJOR TEST : AIIMS

Nitration of xylene gives only one nitrodimethyl
benzene. Structure of xylene is

CH, CH,

CH,
(2
CH

) All

~
—
~

3

CH,

~
(98]
~

CH,

@+CH3CHZ(”“C1 AL 5 ALy g 2L, € (Major) 2
0

C=C-CH,

6]

CH,-C=CH
@)

¥e

©
Z——
LA

o

A

T

OH=CH-CH,
4)

53.

54.

A TARGET : PRE-MEDICAL 2013 29-05-2013
CH, (I?
ot p | 52, A SRR I\
ii ve (i) H
CHs—ﬁ
O
—&5C —&5C
CH, CH, CH, CH,
(1) @ @ @ (1) @ @
CH,~CH,—CI (liH—CHz—Cl CH,~CH,—Cl (|?H—CH2—C1
OH OH
CH, CH,Cl CH, CH,Cl
3) @ @) @ 3) @ @)
(liH—CH3 CH-CH, (liH—CH3 lCH—CH3
Cl (l)H Cl OH

TS o1 AELTHT HT TR helel Teh 2 ISEHe

SIS ST © 1 Sgeli= st §4= T © -

CH,

CH,
(L 2
CH

(4) Tt

~
98]
~

CH,

AICI, PCl 2NaNH,

C (Major) ?

©

+CH,-CH,-¢-Cl

C=C-CH,
VO

CH, C=CH
@ @

NH,

OH=CH-CH,
W (O

e

Yewr Target i to secane Good Rank in Pre-MWedical 2015
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Patt ta Success JROTA (RAJASTHAN

55. CH3_ﬁ_O_CH3 (i)DIBAL-H >A Et—-NH, B () 55 CH3—C—O—CH3 (i)DIBAL-H >A Et-NH, B ()

(ii) H,0 . I (ii) H,0

(1) CH,~CH=NEt (2) CH,~CH,-NH, (1) CH,~CH=NEt (2) CH,~CH,-NH,
(3) CH,-CH,-NH-Et (4 CHs—I(f—NH—Et (3) CH,-CH,-NH-Et (4 CHs—I(f—NH—Et
O O
56. CH,-CH,-C=N_1AM: , o CIMeBr g B | 56. CH,~CH,-C=N_—1AH: , A CHMeBr 3. ga
(1) CH, (1) CH,
(2) CH,—~CH,~CH,—CH, (2) CH,—~CH,~CH,—CH,
(3) CH,-CH,~CH,-Br (3) CH,~CH,~CH,-Br
(4) CH,CH,MgBr (4) CH,CH,MgBr
57. @COOH is converted in acetophenone | 57. @COOH o1 wfgaifem | fre gry aftafaa
by = F TR T -
(1) (i) SOCl, (1) (i) SOCl,
('11) CH,MgCl (ii) CH,MgCl
(2) (1) NaOH/CaO (2) (i) NaOH/CaO
(ii) CH,-COCI/AICI, (ii) CH,~COCI/AICI,
(3) (1) Red P/HI (3) (i) Red P/HI
(ii) CH,~COCI/AICI, (ii) CH,~COCI/AICI,
2OH+Br COOH aOH:+Br,
58. @COOH+NH3 Ay A JOTPES 9 | S8, @ +NH,—2s A 0P
(1) PhCHO (2) Ph-NH, (1) PhCHO (2) Ph-NH,
3 Ph-CH-CH, (4) Ph—CH,-NH, (3) Ph-CH-CH, (4) Ph—CH,-NH,
OH OH
59.  Which can react with NaHCO, :- 59. &M NaHCO, ¥ fshan T Hehal ¢ :-
(1) Picric acid (2) R-COOH (1) Picric acid (2) R-COOH
(3) Phenol 4) (1) & (2) both (3) Phenol @) (1) & (2) EH
NH, NaNO,_ , CuCN_, H, . HNO, NH, NaNO,_ , CuCN_,, H, . HNO,
60- @_ - HC] 'A 'B NI/A C /D? 60. @_ - HC] 'A 'B NI/A C /D?

W @*CHZ—OH " @CHZ—OH

(2) @CHO ) @CHO

3) @OH 3) @OH

4 HO—@—CHZ—NHZ 4) HO—@—CHZ—NHZ

((=a @, 7 @ a1 TR F A= @)
|
E/H| Your Target co to secune Good Rauk in Pre-Wedical 20135 | 9137 |




Path to Succusa

61.

62.

63.

64.

65.

[ 10/37 |

MAJOR TEST : AIIMS

PAArviehyn. TARGET : PRE-MEDICAL 2013 29-05-2013

Prothallus in Pteridophytes is :- 61. SRy ¥ Widew ¢ -

(1) Nonvascular, haploid, Multicellular small, (D W,W,@W,@a,aﬁm’w:
mostly photosynthetic, thalloid gametophyte EEAN NG| %ﬂﬂ"ﬂaﬂaﬁﬁ'

(2) Vascular, haploid, Multicellular gametophyte (2) HeEH!, ST, SRR, TTHRIGIYG

(3) Diploid, free living gametophyte (3) Taafura, get Sfreft, FHenIgfvg

(4) Main plant body in some pteridophyte “) @%ﬁ@m‘wﬁ & UIeY YRR

Reproduction is a characteristic of living | 62. S Siiall o1 T&T0N § AR T IR T[0T & &9

organisms but it can not be regarded as defining H T o ¥ FAIfF -

property because :- (1) sredfires 591 6 F9a T Y9+ affaq

(1) Asexual reproduction involves only single Aar e
parent (2) =1 Sfal # dAregl ardERer § SHA T

(2) Lower oganisms do not reproduce under A
stres.sfl.lll en\{lronment . (3) |t SAfaa Sl § < e T e

(3) All living beings do not have the capacity S %
to reproduce e

(4) For lower plants, growth and reproduction (4) T2 Il | g @ S Wi SYerpd
are mutually inseparable phenomenon qﬁm%

Read the following statements. 63. T Ferdl %1 vl . .

A. Mosses are gregarious in nature because A. Wiw%@aﬁ%mmww
germination of spore is indirect STYCIE] Tl §

B. Rhizoids of mosses are unicellular and B. Hig & HATHTH THRITITHRTA 9 ferd aid
branched K

C. Only capsule is a fertile part in moss C. W9 & diemgfie § hod arfed g e
sporophyte FinIS

D. On th(;1 basi.s of filependen}cle moss D. fyfars WWWET’HWW’E’%‘W@
sporophyte is similar to hornwort A f
sporophyte ‘q—q’ o T T

Choose the correct statements.  H |

() A, B, C (2) A, B, C, D (1) A, B, C 2)A,B,C, D

3) A, C, D (4)B, C, D 3)ACD 4 B,C, D

Choose the incorrect match of following :- 64. =1 § 9§ o0 ZrH H1 A H -

(1) Mycoplasma — Wall less eukaryotes (1) HrgehTerrsH — faf eq aefrash=st

(2) Gonyaulax — Red tide (2) 7R — Tl SoR

(3) Albugo — Parasite on Mustard (3) W— EICIR S

(4) Trypanosoma — Flagellated protozoan (4) TEHIGIHT — et Jreree

Which one of the following statement is not | 65. = H Y HH G HIH IA T T ;-

true?

(1) Any plane that passes through centre does
not divide animals body into equal halves
are said to have radial symmetry

(2) Any plane that divides animal's body into
two equal halves are said to have bilateral
symmetry

(3) Notochord is mesodermally derived hollow
structure present on ventral side of body.

(4) All of the above

(1) = ¥ B0 gL AR I8 T STl o IR HI QA
SR 9T H faerfera 8 oY 39 o1 gufidt
FEd §

(2) afe g qet &1 SR Wt # o & o @
fguryd Tt hed §1

(3) ARIHIE HisieH 35T i, WiEelt T= €1 S
IR H 3R Hag T 3Ufeerd 2t B

(4) S |t

Yowr Target io to cecare Good Rank in Pre-Wedical 2015
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CAREER INSTITUTE

PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE |((29-05-2013

How many of the following animals are
poikilothermic

Myxine, Pristis, Hyla, Hemidactylus,
Neophron, Struthio

(H) 4 2)3

3)2 45

In which of the following plant flower valvate
aestivation occurs?

(1) Calotropis (2) Cotton

(3) Cassia (4) Bean

In flowering plants, anthesis means :-

(1) Growth of pollen tube inside the carpel
(2) Dehiscence of anther
(3) Opening of floral bud

(4) Emergence of anther
Match the column :-
(a) Aleurone layer
(b) Scutellum

(¢) Plumule

(d) Radicle

(i) Cotyledon
(i) Coleoptile
(iii) Coleorhiza
(iv) Protein layer

a b C d
(H @ (i) (ii1) (iv)
(2) av) @ (i) (ii1)
(3) (ii1) (i) (iv)
4) v) (1) (ii1) 1)

Consider the following four statements (a-d)

and select the two incorrect ones out of these:-

(a) The skull, vertebral column and girdles
constitute axial skeleton

(b) Each collar bone is formed by the fusion
of two bones-clavicle and scapula

(c) Thoracic vertebrae, ribs and sternum
together form the rib cage

(d) Each middle ear contains three tiny bones
malleus, Incus and stapes

The two incorrect statement are

(1) (a) and (b) (2) (b) and (c)
(3) (¢) and (d) (4) (a) and (c)
Ligament and tendons are examples of
(1) Dense regular connective tissue

(2) Dense irregular connective tissue
(3) Areolar connective tissue

(4) Specialised connective tissue

e & 9 forem S e IHardt ¥
fagdiw, gleely, @grFar, @Hleaezad,
w1, Sfar

(1) 4 2)3

(3)2 45

A8 forg TRY & 759 # Reael s H g foamme
T ST € 2

(1) Fafeg (2) U™
(3) &g 4) 89
it Ul H Theer o1 37ef 2T e -
(1) 37789 & i WA i Ifg
(2) TTRIT T THA
(3) I hfctert 1 farer
(4) TATHRTY T 3T
Y e ®ifsT -
(a) TR (i) s
(b) THAH (i) WL
(c) iHT (i) eI =
(d) HeART (iv) ST

a b c d
(D) @ (i) (iii) (iv)
(2) (iv) (1) (i) (iii)
(3) @ (iii) (i) (iv)
(4) (iv) (i) (iii) (1)
frafafed IR et (a-d) W fa=r Fifey ik 333
q T TTeTd HAT I AT -

(a) T, e TS AL BEerTy fieTent 31eft sheptel
I |

(b) T STk, FATahel qdT Thya STl & Hetda
Y I B

(c) F&iT HIEw, qaferan qen U faee ggett
o o1 § |

(d) Ik el | e Bt Afker Bt & - B,
THY Td WU

3 eI HEH T -

(1) (a) a= (b)

(3) (c) T (d)

T A1 o &3 ST B-

(1) g=A frafaa 9ot Sas

(2) ToA Afafad st s

(3) TifcieRT TS Sk

(4) Tafortena TSt ds

(2) (b) @1 (c)
(4) (a) T (c)

(© @w g=m & 1)

W?mezwwmm%ézméwpw-%mwwig
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74.

75.

76.

77.

78.
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Three of the following statements are correct

MAJOR TEST : AIIMS

CAREER INSTITUTE

TARGET : PRE-MEDICAL 2013

29-05-2013

while one is incorrect. Which one is incorrect:-

(1) Cytoplasm is the main arena of cellular
activity.

(2) Stroma of the chloroplast contain enzymes
required for the synthesis of protein.

(3) During prophase chromosomes lose their
identity as discrete elements

(4) In human beings the membrane of
erythrocytes has approximately 52 percent
protein

Dianosaurs disappeared before :

(1) 200 million years ago

(2) 20 million years ago

(3) 65 million years ago

(4) 65 billion years ago

The animals which evolved into the first

amphibian that lived on both land and water,

were :

(2) Lobefin

(4) Pelycosaurs

(1) Cyclostomates

(3) Ichthyosaurs

In which type of natural selection the peak gets

higher and narrower ?

(1) Stablising selection

(2) Directional selection

(3) Disruptive selection

(4) None of these

Green revolution was dependent to a large

extent on plant breeding techniques for

development of

(1) High yielding varieties

(2) Disease resistant varieties

(3) Wild varieties

(4) Both 1 and 2

If in a cell water potential is —30 bar and osmotic

potential is —72 bar then what is the value of the

turgidity developed in the form of TP in the cell?

(1) 102 bar (2) -102 bar

(3) —42 bar (4) 42 bar

Sulphur is an essential macronutrient of plants.

It is found in all the following except :-

(1) electron transfering protein ferredoxin

(2) some vitamins like thiamine, biotin and
coenzyme A

(3) nucleosides and nucleotides

(4) some amino acids like cysteine and
methionine

72.

73.

74.

75.

76

77.

78.

o feu smemt | 9 U Hod § S T 316 ©
3T I DI € ;-

(1) FIfeTenTa fRansti ¥ HINTRES Th @ T
g

(2) BAcTas & 1 H WIS e & fog seavas
qomey figerd §1

(3) Tkt Yol 5 SR TR ohi geieh T FHIS
A

(4) AT T BRI T foeeft § a1 52 gfaer
T Tierar &

SEAMR &1 T ga :

(1) 200 fafe= = g&

(2) 20 fafer= o g

(3) 65 fhfera o g

(4) 65 faferaa o g

& Jroft 57t fop gord 3va=R & &9 § fasfad gu s

! ST AT I ST W TE, & ¢
(1) TEFEHE (2) @EfET (AfaTE)

(3) Sfaeraai™ (4) AfeTeRrard

for g YR & e Tk oo H frer 3= 31R e gt
S e ?

(1) TSR axo

(2) fesmenss s

(3) faafera o

(4) 3T | g 6

. sRa=ifa, foras fawa & foau 9ey g7 deies W

et et §2

(1) 3= 34 foher

(2) W e fhem

(3) et fomem

(4) 192 <M
7f T FIfYTeRT H St faua —30 IR e TRrERv fava
—72 IR g HIfereR1 § TP & &9 # fasfaa whifa
T A R 2
(1) 102 bar (2) =102 bar
(3) —42 bar (4) 42 bar
YL, TIet ol Ueh AT geg drseh & | 78 e edt
H g ST % | foem -
(1) SR TIHTRUT A dTell G sl &
(2) @@W@@ -fornfm, srefes wa SidsEH

A

(3) FfFAsTramEe @ Hoasiene &
(4) B AHH ol w9 - fay wd fafete

Yowr Target io to cecare Good Rank in Pre-Wedical 2015

5
|E/H
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ALLEN | pREMEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE |/29-05-2013
Succsia
79. | Characteristic C, Plant C, Plant 79. N C, 9y C, 9™
Cell type in which | Mesophyll | ‘A’ EA IR EALRSE L quiHeTed | ‘A’
initial carboxylation YRt hTaliforTers™
occurs B T
Cell type in which | ‘C’ ‘B’ ¥R g fwd | C ‘B’
Calvin cycle takes shfear =15k Tl
place i
First stable product | PGA ‘D C, =I5 =l JeH PGA D
of C; cycle
Choose the correct option for A, B, C and D ffm A 9 A, B, C 9D & fau 98 fawey
from the following :- 9T -
(1) A = Bundle sheath, B = Bundle sheath, (1) A =49ar==x, B = Ja==g, C = ‘Tﬂfq%?ﬁ?ﬂ?,
C = Mesophyll, D = OAA D = OAA
(2) A = Mesophyll, B = Bundle sheath, (2) A = qUHEATH, B = aTess, C = JuiHeAes,
C = Mesophyll, D = PGA D = PGA
(3) A = Mesophyll, B = Mesophyll, (3) A = TUiHETH, B = quiHE RS, C = JoTws,
C = Bundle sheath, D = OAA D = OAA
(4) A = Bundle sheath, B = Mesophyll, (4) A = qaT=s%, B = quimedT, C = Jar=ss,
C = Bundle sheath, D = PGA D = PGA
Active sites =
80. 80. SIER
Substrate Fapem
Q? o~ Substrate ‘_/ﬁh_aﬂ?ﬂﬁ
analogue a } e
Above diagram is the indicative diagram for a f . . af
type of en§ me inhibition. Choose tghe correct likia & 54 =
yPe Y ; . ¥ Tg GeEa & weed # fre § @ g faeeu
option from the following regarding the ‘
inhibition :- A
Type of Substrate Substrate TIHA Al foramem ERICIN
inhibition analogue Ah EESEl
(1) | Non competitive | Malonate Succinate (1) | srufereqeicrs | Aeime TR
reversible SEhHTNY
(2) | Competitive Succinic Malonate (2) | gfceasieres | i SIRT
dehydrogenase SRECIRRE
(3) | Non competitive | Succinic Succinate (3) | srwfeeasicae | wferafen e
irreversible dehydrogenase STIHHITA SRECIRRE
(4) | Competitive Succinate Malonate ) ¢

(E/H/J
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29-05-2013

Given below is the flow chart of biogas
production. In which of the following options,
correct word for stage-I, stage-II and stage-III

are identified?
stage—II1

ShlITy stage—1 A stage—II B Blogas
Stage-1 Stage-11 Stage-III
(1) Acidogenesis ~ Solubilisation ~ Methanogenesis

(2) Solubilisation Methanogenesis Acidogenesis

(3) Solubilisation ~ Acidogenesis ~ Methanogenesis

(4) Acidogenesis Methanogenesis Solubilisation

Select the incorrect statement from the given

statements

(1) Large holes in Swisscheese are due to
production of large amount of CO,

(2) Protease and pectinase is used to clarify the
bottled juices

(3) Penicillin was discovered by Waksman

(4) In mycorrhiza, the fungi helps in absorption
of nutrients

In Coronary Artery Bypass Grafting (CABG),

in order to bypass the blocked region of the

coronary artery, surgeon uses :-

(1) Only arteries from another part of body

(2) Only veins from another part of body

(3) Artery or a vein from another part of body

(4) Only artificial arteries made from porous
plastic fibres of dacron or teflon

Find the incorrect match w.r.t. part of the

nephron and the function associated with it :-

(1) Proximal convoluted — Reabsorption of

tubule HCO; and selective
secretion of hydrogen
ions, ammonia and

potassium ions

(2) Ascending limb of — Impermeable to

water but allows the
transport of

loop of Henle

electrolytes
(3) Descending limb of — Permeable to water
loop of Henle but impermeable to
electrolytes
(4) Distal convoluted — Reabsorption of

tubule HCO; and selective
secretion of Na* in
the presence of

aldosterone

81.

82.

83.

84.

(1) gHIEy Hoefed

=1 A T Sere ot = fean T, fre A | e
o stage-I, stage-11 9 stage-111 & foTq W&l 918
1 T &2

sage-l o A

stage—II B stage—II1

Biogas
Stage-III

Shurry

Stage-1 Stage-11

(1) Acidogenesis ~ Solubilisation ~ Methanogenesis

(2) Solubilisation Methanogenesis Acidogenesis

(3) Solubilisation  Acidogenesis ~ Methanogenesis

(4) Acidogenesis Methanogenesis Solubilisation

feu T weRl § Terd FUF T I IO 2

(1) Swiss cheese H S-S f&g WWWﬁCOZ
39 B & IO o T |

(2) Protease and pectinase bottled juices I HIH
A H HTH A E

(3) Tt T Tt ST 3 i ot

(4) FERTA H Hdeh UISeh TSTT % ST H 7eg
FA B

FHRF gH ST AT (CABG), HRRT 981

T g 9 H 39T 5 § yTeafafeheden e

WW%:—

(1) IRR & T 91 &1 haal gAMET T

(2) TRR & =1 9N &l hael FIRISt &1

(3) TR & T 91T i g a1 B &1

(4) THae HEAT e 1 S SHAA AT T o fafed
wfeEes el @ S el ©

AT T T & 30 Haferd el & deol | erd faem

T =TI I -

HCO; =T q:

S R T
ST, ST |
refyrm St
TS S BT § |

BISED

(2) T & A I ARG — S b oI T

NSl AfeR SgaTIEId 1
Tfee B ¥

(3) BT % U i G  — WA o AT IR

Rl B
o sraror At §

(4) & Fuefad — TCSIEH whi Sufeefd

fereht HHCO; 1 T
ST & Nat &l

SR e BT R |
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Succeia JROTA (RAJASTHAN

85. Given below is a diagram showing structures | 85, i< o3 73 @ ¥ TEETH faaeg =t TEATE S

labelled as A, B, C, D, E and F in a chemical A.B.C,D.E Q_ef F 9 iferd $ et 7o -
synapse :-

SORIERT H W I ST, foeedtat Fomee § STenT T

Which among the above structure would not

be involved in impulse transmission through # wfmfad & 2ri &
an electrical synapse ? ()BT C (2) C. D, T E
(1) B and C (2) C, D, and E ) )
(3)C,E and F (4) A, E, and F ) C ETF 4 A E T F
86. Read the following five statements (A to E) | 86. =1 wrg weAl #1 (A FE) %ZIHTET?F qfed ?
carefully :- (A) HEHITHIT Tlhard, STE S aferd o hard,
(A) Catecholamines increases alertness, W@W,WW,WQ,WW
pupillary dilation, piloerection, heart rate, .
respiratory rate, sweating etc during stress T w1 R AT e
condition (B) ANF ot Gt o1 smeht s & wiferd et
(B) ANF is not secreted by an organised B © Aferd fRT of 58 gME A ST
endocrine body but can be considered as (C) IFd, IoFh , &4, SR~ AR 311fe giratera
hormone 1 T S ¥ F o A i e
(C) Liver, kidney, heart, gastrointestinal tract F
etc. are not organised endocrine bodies o . e .
but they also produce hormones (D) eMeEs T TReTEes Siferdl % i IR A
(D) Hormones of thyroid and parathyroid WWWT@%‘?WW%‘T@
glands play a significant role in calcium g
balance in our body (E) 9w 7o i Td B WA gHia 9=
(E) Pituitary and hypothalamic hormones foreetiatod ufedl @ frar w3 € 1 o
interact with membrane-bound receptors 5 o~ . =
normally and do not enter into the target . @.ﬁ R T HT I & A
cell but generate second messengers HEYEIERT T I H3d € |
How many of the above statements are correct? Soierd H H fohe her Wt 8-
(1) Two (2) Three (O (2) @
(3) Four (4) Five (3) IR ) =

( oIrht awan ® T agAt w TAE R | )
|
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Hypothalamus
GnRH

M FvSH
‘

Secrete Androgens
Inhibin Stimulate

spermiogenesis

87.

Find out A, B, C, D and E respectively :-

[A] [B]

Leydig

[C] [D]

Testis Sertoli cells

D

Sperm
cells

Posterior Leydig |Male germ

Testis

@)

cells cells

Leydig

pituitary
Anterior

ICSH Sertoli cells|ABP

3)

cells
Sertoili
cells

pituitary
Anterior
pituitary

Leydig
cells

Testis AMH

“)

88. A Drosophila heterozygous for both body

colour and eye colour will be :-
(1) Only male

(2) Only female

(3) Mostly male

(4) Either male or female

89. Which of the following statement is incorrect with

respect to RMS (Restriction modification system):-

(1) Restriction endonuclease identified

introduced foreign DNA and cuts into pieces

(2) Modification enzymes add a methyl group
to one or two bases usually within the

recognition site of RE-enzyme

(3) Restriction endonuclease can cleave any

palindromic sequence

(4) Restriction enzyme restrict the propagation
of foreign DNA of bacteriophages in the

host bacterium

87. TEIEHE
GnRH
% FoH
5] v
[ol
Inhibin Spen;g.l%;neSis
A, B, C, D 3R E &l FHH: FaBU -
[A] [B] [C] D] [E]
(1) |awor e wefel AMH
BIPIBI = PIfPTBT
2) |uTm digy |awo ORI I ABP
@) PIBT | BIfTBT
(3) |1 digw  |ICSH et wefel ABP
PIfBT | BIfBT
(4) [3m1 dig  |awor e AMH
PIBT | BIfBT
88. TUH SHIfheN S YRR & 1 a1 i@l & &1 A
% fod fowrgrost § 9% /R -
(1) ®aa |
(2) ®ad el
(3) g&Ia: R
(4) =1 <@ T AT AT
89. YERHM HiEfthhyH a1 (RMS) & <y | @
FYT A T -
(1) I TUSHfHRTUS Y HT T =g DNA
%1 TE=aT € 3R S8 @l # died §

(2) RE &1 Iz woa § gifefheye u=ren
T A1 & | fHA1sd 998 &1 F7 Had
K

(3) Mg woeiforetd foreft oft Seftgifier sjaen
1 I Fehall &

(4) LT T Sarorst & a@d DNA i
ASEE Stam] § YU Hed (OF) § Ashal

[ 16/37 |
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Which one incorrect match :-

(1) Hirudin - Brassica napus

(2) Golden rice - Carotenoid gene
(3) Insecticidal protein - potato
(4) Flavr Savr - Tomato

RNA interference (RNAi) method is used in
silencing of m-RNA at post transcriptional level

is used in :-

(1) Preventing root knot nematode damage
(2) Preventing leaf gall producing organisms
(3) Synthesis of hirudin

(4) Production of Golden rice

Dominant phenotype/trait is produced by :-
(1) Unmodified allele only

(2) Modified alleles only

(3) Both unmodified and equivalent modified

alleles
(4) Every modified and unmodified allele.
Immune system plays important role in :-
(1) Allergic reactions
(2) Auto immune diseases
(3) Organ transplantation
(4) All of these
Contact inhibition is the property of :-

(1) Normal cells

(2) Malignant tumor

(3) Benign tumor

(4) Both (2) & (3)
Anamnestic response is :-
(1) Feeble

(2) Low intensified

(3) Highly intensified

(4) Primary response

90.

91.

92.

93.

94.

9s.

I 3T T © -
(1) fe&SH - arger 799

(2) e TEH - HUSHIES S
(3) SRR I - 377e]

(4) TeIaR Fe - THTX

m-RNA & IoieR R R FfSRa0 & RNA

S T dehleh T 0 | fhad 7 =t Sl © -

(1) g Fie g0 &fd wgam o fHere 1 Jara
FH HI

(2) Tt Tt I ATt e i AR

(3) fewe w1 Feerwm

(4) Tiee ST 1 a1
TSl TeTor e/ rero e B | ferereh g Yer feman
Trﬂ'cﬂ% -

(1) ot ST Tefiet gRT

(2) HIA TUIRG Teltdl g

(3) ITEUIRG 9 AT A= Teitdd gl
(4) Yo BN o STEUIRG Taltdd g
gferer @ forad qea fushr femar g -
(1) Terstt foramadi #

(2) T Ffaeen A |

(3) ST JAIT H

(4) ST gt
WWWT’T%:—

(1) A= hITTRTS A1

(2) A= TR

(3) SIE g

4) (2) 7 (3) <

AR SRR ¥ -

(1) g

(2) &Y e &t

(3) =4 e st

(4) wrafeh ST

( Time Management is Life Management )
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What will happen when sewage gets mixed in | 96, o 71 & U § =rfed g« fqarar &, a1 &
river water :- B -
(a) First'BOD. will increases but further along (a) TES BOD =2 frr 7 F ) ST T2
the river it decreases < ’
(b) First DO will increase but further along the .
ver it decrenses (b) :%;Tﬂ DO = fm 7€ | &A1 SATHhT =1
(c) First DO will decrease but further along the .
river it increases © ::_HDO HEM THRT at /ST A e
d) First BOD will decreases but further alon .
@ the river it increase - @ ﬁ_ﬂBOD T TR R A ST T fe
()b, 2)ac (1) b, ¢ ) a, ¢
(3) b, d (4) a, b (3) b, d 4) a, b
Epiphytes are example of :- 97. YUY fHras T T -
(1) Competition (1) faeast
(2) Parasitism (2) TSittar
(3) Commensalism (3) wHuafersH
(4) Amensalism (4) THRfTH
What is wrong :- 98. = o q =9 o © -
(1) EINino - Temp. of water warmer (1) STARH - I o a9 a%‘rn
(2) LANino - Temp. of water colder (2) SNFFT - T 3T AT
(3) Albido - Temperature of earth surface decreases
(4) Eutrophication - Temperature of water (3) AT - o=l Hre 1 A M
bodies warmer G)) g‘fﬁ'ﬂ'ﬂT - STCTTIT &1 ™ 3!%111
Which is/are example of Non point source | 99, =& § ST Iferg, T IgHUT 1 IR T -
pollution :- (a) it
(a) Smoke (b) it 5 anfed 5 @@W
(b) Sewage discharge in river (c) T & HAX &1 faulsl Tamd 9T 11
(c) dumping of muncipal waste on a particular .
site (Land fill) (Sefhei)
(d) Spray of pestisides or other chemical (d) dreshHrefl qem 1= L@ 61 fogaha
(1) only a 2)a, c (1) only a 2)a, c
(3)a, b, c (4)a, b, d (3)a, b, c (4)a, b, d
Which of the following statement about | 100. Tl THEME I & e § HHET 99 AT

photochemical smog is wrong :-

(1) It has high concentration of oxidising agents

(2) It has low concentrations of oxidising agent

(3) It can be controlled by controlling the
release of NO,, HC, O, etc.

(4) Plantation of some plant like pinus helps in

controlling photochemical smog

T -

(1) =& YRR Tedl b1 Hirgdl =4 Bl §

(2) SHH STRATRI deall o Grsel e o Bl ©

(3) FENO,, HC, O, % Sc&si- <l s hieh T
foman < Hehen ®

(4) JIRIIO GRT, S YIS ST T TR T TR
TR ST T fran s geha ©
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In the figure shown block of mass 2 kg is very
long and ‘t’ is the time. Force of friction on 1
kg block is :-

p,=0.5
lkg —>F,=10N
2 kg —F =2t
Smooth

(1) Always towards right
(2) Always towards left
(3) First towards right and then towards left
(4) First towards left and then towards right
A man is sitting inside a moving train and
observes the objects outside of the train. Choose
the correct choice from the following statements-
(1) All stationary objects outside the train will
move with same velocity in opposite
direction of the train with respect to the man
(2) Stationary objects near the train will move with
greater velocity and object far from train will
move with lesser velocity with respect to the man
(3) Large objects like moon or mountains will
move with same velocity as that of the train
(4) All of these
In order to raise a mass m a man ties it to a rope and
passes the rope over a frictionless pulley. He climbs
the rope with an acceleration 3g/2 relative to the rope.
If the mass of the man is m/2 and the mass of the

rope is negligible, the tension in the rope is :-
3mg Smg 7mg 9mg
2 3 6 7

Two skaters A and B of mass 50 kg and 70 kg,
respectively, stand facing each other, 6 metres

ey 2) 3) “)

apart on a horizontal smooth surface. They pull
a rope stretched between them. How far has
each moved when they meet :-

(1) Both have moved 3m

(2) A moves 4 m and B moves 2m

(3) A moves 2.5 m and B moves 3.5 m

(4) A moves 3.5 m and B moves 2.5 m

101.

102.

103.

104.

T T o | 2 kg TSN H1 scilsh Sigd o §
q ‘¢ WHE B0 1 kg sATH G TS HT 9@
B0 :-

p,=0.5

lkg F>F,=10N
2kg |>F =2t
Teen

(1) 9<a Trff 3R

(2) 9=a SR 3R

(3) e Sl den o H & 3R

(4) e 9T @9 &g | g 3R

Teh ST Teh Tiaeitet 3 & 37X d8eht 39 & aTel
1 T3 1 T&T0T ha § | T herml | we e
T HITIT -

(1) 29 & dmex feoa a4t feer aqu aIeH &
qraer 29 & faufa foen § w9 91 / 7ifa
FH

(2) 37 % G &1 feer Ty e & wre eAfues
o H AT ¢ 9 ATl TEqE H/H kA 971 9 T
FHaf

(3) TET TRy SR T HT A YA 3 & A 9 Y I
FHaf

(4) SUlEd |t

T m SHM i 33 o Tl Ueh STEHT 39 Teh &t

T SR T o1 Teh FEURIEA fort OX 9 o STk Tt

o e 39 W 3g/2 R0 W Tedl § | AfE ST

THAM m/2 T T 1 GAH 709 2, o T |

W%:—

3 5 7 9

50 kg @1 70 kg & < Thed A a1 B TRt dfast
ekt |8 W 6 m o1 T T TH TR 1 IR TE Hlh
TS T E | ST ST5h HEA o1 T a1 g8 SRI hl B
g1 5 3 forei @ S STer- ot feRe gt @
ETURS

(1) F 3m =eRt

(2) A, 4 m @& B, 2m =

(3) A, 2.5 m @1 B, 3.5 m =i

(4) A, 3.5 m @1 B, 2.5 m =i

(9o v R T TR w1 )
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A ball is thrown vertically upwards from the
foot of a tower. It crosses the top of the tower
twice after an interval of 4s and reaches the foot
of the tower 8s after it was thrown. What is the
height of the tower ? Take g = 10 ms -
(1) 60 m (2) 80 m

(3) 100 m (4) 120 m

In the given diagram the sphere is released
from rest. Just after collision with 5 kg block.
It comes to rest. The 5 kg block comes to rest
after moving a distance of 0.8 m.

V=0 <«

4 kg
Skg Skg
iy IIIIIIIIIIIIIIIIIIIIII”/ 1777177,
n=0.4
Co-efficient of restitution will be :-
(1) 0.5 (2) 0.6
(3) 0.7 (4) 0.8

The resistance of all the wires between any two
adjacent dots is R. The equivalent resistance
between A and B as shown in figure is

A

IZR 2ZR
() 3 @ 5

14
3) ? R (4) None of these
A uniform chain has mass M and length L. If
is placed on a frictionless table with length 7
hanging over the edge. The chain begins to
slide. Then the speed V with which the end

slides down from the edge is given by :-

&y, 2 _ E 2 2
(HV = ,/L(L +105) (2)V_,/L(L )

G)V= gL @V= [FT-0)

105.

106.

107.

108.

T HIMR & 3TER W Tah 1S ] HEATeR S Thehl STl
T 8 W & 3T 1 4 YR & ST H & o) IR
A & AT AR & SR W, Beh & 8 WHUE 915
TR ¥ 1 HAR R e fome € 2

(g =10 ms_zﬁ) -
(1) 60 m (2) 80 m
(3) 100 m (4) 120 m

&3 71 ferst T Tt =) formaTeeen A ST ST e 1 5 kg
% Seifch  THT o Sich A1G 9 [ACHISTET H 71 STl
T15 kg sl 0.8 m L T H & a1 foRraaen
H 31 ST

V=0 = 4 kg
Skg Skg
uuy IIIIIIIIIIIIIIIIIIIIII”/ 1777177,
n=0.4
JeATIE U BT
(1) 0.5 (2) 0.6 (3) 0.7 4) 0.8

wefyta fosr # for=di <1 shomma forg el & A AR &1
FfaIT R 1 A 9 B & HeF qoaish! gfadier g

A

AN

(1) 73R
(3) 14/8 R

(2) 7/6 R
(4) 38 Q =g &l

M S iR L TTE 1 Toh THEY SIS Teh 60T
fed U5 T 39 YR Tl § for Skt ¢ e A

% fohIR T T1ehl g2 T | SISt TRTerT 3T e B |
ST STS{X 1 T A o i O fteeran o et
o V BRl -

&2, 2 _ E 2 2
() V = ,fL(L +45) (2)V_,fL(L )

G)V= g1 @V= T
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A syringe containing water is held horizontally
at a length h = 1.25 m above the ground. The
diameter of the piston is 5 times that of the
nozzle. The piston is pushed with a constant

speed of 20 cm/s. (g = 10 m/sz)

B
20cm/s

.,
.,

The horizontal distance where the water strikes
on the ground will be :-

(1) 1.5 m (2) 2m

3)25m (4) 3m

A body of mass m slides down an incline and
reaches the bottom with a velocity V. If the
same mass were in form of ring which rolls
down this incline, then velocity of the ring at
the bottom would have been:-

v (2) V2v

2
) \g\'

The path difference between two interfering

Vv
O

A )
— . The ratio

waves at a point on the screen is 3

of intensity at this point and that at the central
fringe will be :—
(1) 0.853

(3) 85.3

(2) 8.53
(4) 853
A gas at pressure 6 x 10° N/m? and volume 1m?*
and its pressure falls to 4 x 10° N/m?. When its
volume is 3m?® Given that the indicator

diagram is a straight line, work done by the

system is :-
(1) 6 x 105 J 2)3 x10%17]
(3)4 x10°J (4) 10 x 10°J

109.

110.

111.

112.

T o T WS R Aifest T & iR SueR At
A § h = 1.25 m 391 51 e 1 = A
% = 15 T § | e 61 20 cm/s T T THR
= q el I 2 l(g = 10 m/s )

B
20cm/s

.
A

&t g STl U SRIael TR ST SehAT B -
(1) 1.5 m (2) 2m

(3)2.5m (4) 3m

m TSHM i Tk 9% 3T aot R {hgerd § e
Tl WA V ¥ TgEdt §1 A TAE S aed
1 sTeRfd |/ & S G a1 | e al Ug W A
BT -

MV @) V2V
Vv 2
O © \g\'

T & frdt fog R =fasi 1 g @it & qea

TR % T 39 fag W o qen fordlt wohielt

TR~ & =5 I eIl T ST BT :-
(1) 0.853 (2) 8.53
(3) 85.3 (4) 853

T T T 6 x 105 N/m? 3R ST 1m? ¥ | 591
T IR 4 x 10° N/m? 1 STl @ <l 391 ST
3m? B | T2 7o g RE U W e | e
TR TR o el % -
(1) 6 x 105 J (2)3 x105]

(3) 4 x 1057 4) 10 x 10° J

@ﬁ?} 9t YIT Key Filling @ Tad T& 20 aTF{qD

Your Target éo to secare Good Rank in Pre-Wedical 2015

| 21/37




MAJOR TEST : AIIMS

TARGET : PRE-MEDICAL 2013 29-05-2013

CAREER INSTITUTE
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113. The figure shows a lens of focal length fand | 113. fa3 & w9 U £ 9Tt A qO1 A H & FEH €
a circular disc of same aperture as that of g dTefl AR =Rl 1 ot T ¥ ™
lens. Parallel lights are falling on the lens. .
The circular disc is moving away from the TR TR ST &1 32T | T Tl o8 |
lens. RESIRG| g
> é P g
= 8
\ 5 > \ E
—_— .g —_— .g
LG ! i > ] "t R
—_ f > f
— = " > = »
Which of the following graph shows number e 9 QB UTE x ® BT & ®9 F ghdl T
of photons incidenting on disc as a function . .
S ?
of x will be AT BIel ohi HEAl ol T O -
A mlk
2 g
(1) £ 1) = .
f » X f e
A A
) Z @) 2
f > X f > X
m“ A
-
(3)% ;
: > X (3)% > X
of 2f
mlk A
g a
) 2 4) £
> X > X
2f 2f
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. The coefficient of linear expansion of metal

body in one direction is o, and that in every
direction perpendicular to it a,. The coefficient
of cubical expansion is :-

(Do, +a, (2) 2a, + a,

(3) o, + 20, 4 2(a, + a,)

The length and radii of two rods made of same
:2and 2 : 3
respectively. If the temperature difference
between the ends for the two rods be the same, then
in the steady state, the amount of heat flowing per

material are in the ratio 1

second through them will be in the ratio :-

(H1:3 2)4:3

3)3:2 “4)8:9

Vessel X and Y are of same volume. X contains

hydrogen at temperature T and Y contains an

equal mass of helium at same temperature T,

then:-

(1) Pressure in vessel X is half that in vessel Y

(2) Pressure in vessel X is twice that in vessel
Y

(3) Pressure in vessel X is equal that in vessel
Y

(4) Pressure in vessel X is four time to that in
vessel Y

Two masses m; and m, are suspended together

by a massless spring of spring constant k. When

the masses are in equilibrium m, is removed

without disturbing the system, then the angular

frequency of oscillation will be :-

k k
W o @ \m; *m
k k
O @

The displacement of the particle from its mean

position (in metre) varies with time (in second)

according to the equation

y = 0.2 sin (10 wt + 1.5 m) cos (10 mt + 1.57)

The motion of the particle is :-

(1) Along a circular path

(2) Simple harmonic motion with time period
0.1s

(3) Not simple harmonic motion

(4) Simple harmonic motion with time period
0.2 is

114.

115.

116.

117.

118.

T U 1 T HT T TER I T feen § o, ®
3R gHeh Weoreh eraferd fon H 718 o, & STt T
WW@’T{:—

(Do, +a, (2) 2a, + a,

3) o, + 20, 4) 2a, + @)

T B IaTd W1 QB Rl TS SR A T ST
HAW: 1: 2 3AR2: 371 AR Bl o Fadi & A=

T 8 A1 LT 7o H Bl ¥ Ui Yehvs yaifed 35

1 A 1 A BT -
(H1:3 (2)4:3
(3)3:2 4)8:9

s X 3R Y T 3T 99 § 1 argH e T W X #°
BRSISH IR THM SoHH i Siferad T araq= T
WY § @@ -

(1) 951 X H T, 9 Y ¥ o7 7
() s X B @, 9 Y | AR
3) U X HTE, U Y & TR T
(4) 9= X # T@, 9 Y ¥ 91 T )

K f1eeien o1 g Ted T < s m, o m,
T 19 ACHT A & 519 SoAH S ord STore § 81
T 7@ frem = fa feamd m, soomm 1 g faen

ST & Tl SIet i hIoira A g -

k k
Ol @
k k

Teh U7 h1 HeAaee § fowemms (Wi #) 993 (F6ve
) & | R

y = 0.2 sin (10 nt + 1.5 m) cos (10 mt + 1.57)
& TTIR RaEfdd Sran § df U T T B 8 -
(1) T 3eird e o ergfe

(2) 0.1 THTE S T T TS A T

(3) TR aArerd If AL

(4) 0.2 IHTE e FHTA Ht T AT T
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If the speed of the wave shown in the figure is
330 m/s in the given medium, then the equation
of the wave propagating in the positive
x-direction and velocity of particle P will be

(all quantities are in M.K.S. units) :-

Y4
0.05m

/\ .......... /6%}\/\/”
________ \/ \J \J

«—025m—>

(1) y = 0.05 sin 27 (4000 t — 12.5 x),
330./3 m/s upward

(2) y = 0.05 sin 2w (4000 t — 122.5 x),
330./3 m/s upward

(3) y = 0.05 sin 27 (3300 t — 10 x),
330./3 m/s upward

(4) y = 0.05 sin 2m (3300 t — 10 x),
330./3 m/s downward

Regarding speed of sound in gas match the

following :-

(A)

(B)

©

(D)

Temperature of gas | (P)[speed becomes 2\/5

is made 4 times and times

pressure 2 times

Only pressure is (Q)speed become
made 4 times without 2 times

change in temperature
Only temperature is | (R)|speed remains
changed to 4 times unchanged

Molecular mass of the | (S)[speed becomes

gas is made 4 times half

| 24/37 |

MHA-Q,B-R,C-Q,D-S
2DA-Q,B-S,C-Q,D-S
BA-S,BRC-Q,D-S
“HA-Q,B-R,C-Q,D-Q

119. afg o & w<fyfa @ =1 = fodr meag o

330 m/s ST GATeHe x- a9 B T THIeh 0T qe ST
P o1 S BT :-
(@t et MLK.S. At | 11d i)

Y4
0.05m|

/\ .......... @\0}\/\/”
________ \/ \J \J

«—025m—>

(1) y = 0.05 sin 27 (4000 t — 12.5 x),
330./3 m/s ST T AR

(2) y = 0.05 sin 21t (4000 t — 122.5 x),
330./3 m/s SW HI AR

(3) y = 0.05 sin 27 (3300 t — 10 x),
330./3 m/s FW H R

(4) y = 0.05 sin 2m (3300 t — 10 x),

330+/3 m/s = HT AR

120. T ¥ w1 o = & o3 faom fefss .-

(A)|rE =1 T 4 T (P) | =t 2+/2 T A1 S

(B)

©)

D)|TEF AT R IR | (S) | =Tet eh & At

AT 2 AT Bl
)

ara H o afted | (Q) | =Te 2 T 2 S
ERHERCIEEIET]
w®

Had dY ! IR (R) | =met e et
AT T

AT W

(DA-Q,B-R,C-Q,D-8
2)A-Q,B-S,C-Q,D-S
3)A-S,B-R,C-Q,D-8
49A-QB-R C-QD-Q
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In the given circuit, a charge of +80uC is given
to the upper plate of the 4uF capacitor. Then
in the steady state, the charge on the upper plate
of the 3uF capacitor is :-

+80;,1Ci4 .
—I— 33

2uF =— —3uF

1

(1) +32pC (2) +40pC

(3) +48uC (4) +80uC

A condenser of capacity C is charged to a
potential difference of V,. The plates of the
condenser are then connected to an ideal
inductor of inductance L. The current through
the inductor when the potential difference
across the condenser reduces to V, is :-

(C"l \7 2\% CV2 v?2
C(V) +V, (C(VE-V? \%
©) ( 1L = (4)k : L .

Two large vertical and parallel metal plates
having a separation of lcm are connected to a
DC voltage source of potential difference X.
A proton is released at rest midway between
the two plates. It is found to move at 45° to the
vertical just after release. Then X is nearly :-
(1)1x107°V 2)1x107V
B3)1x10°V 4)1x 100V

A current loop consists of two identical
semicircular parts each of the radius R, one
lying in the x — y plane and the other in x — z
plane. If the current in the loop is i. The resultant
magnetic field due to the two semicircular parts
at their common centre is :-

Mol I
() 5 2R 2 SR

H_oi Hol
3 4R @ R

121.

122.

123.

124.

fed 2 uftuer § 4pF & denfed +1 S0 @z
+80uC AT fear ST ¥ 1 q9 LT STawen H,
3pF G &1 S Wi IR SAaT 8 -

+80;,1Ci4 .
—I— 33

2uF =— —3uF

L

(1) +32uC (2) +40pC

(3) +48pC (4) +80puC

C @fid & Tk e =61 V| faverr de smafiE
foren T 71 R STl wiEl B U L I B T
St Ik § g g ¥ | o Henf & )i &
Tl favar 8 Qe V, 8 T8, 0 e § e
et farega | grft :-

(C ‘71 \/ 2\% C‘72_‘72
C ‘712 ‘722 (C ‘712 172 \%

aas"‘ra%afm (Vertical)awﬁ'{ H’I’g[iﬁ'ﬁiﬁﬂﬁ?[
lem %1 g0 &1 9 X fasamR & DC @i 3 2t ¥
ST wicl o HEA Teh W1 o TEeR STaen | Srgt St
T B8 91 & A I WeH el F 45° 0 oA
FSIRICETCIRIRED €ak: ER Uk
(H1x107°V 2)1x107V
B3)1x10°V @ 1x10"0V

Teh 9N 9 < GHEY TEIT 9 I o4 8, T
7T T T R %1 T 9T x — y T B T T A
X —z a1 # feord %1 afc @ # w/ i §, 9@ A
HFITT T o SHATTSS ey TR AROTH ek
& 21 -

Mol I
(1) 2 /2R 2 SR

H_oi Hoi
) 4R @ R

CUse stop, look and go method in reading the questiorD

|
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A rectangular loop has a sliding connector PQ
of length ¢ and resistance R €2 and it is moving
with a speed v as shown. The set up is placed
in a uniform magnetic field B going into the
plane of the paper. The three currents I,, I, and

I are :-
4
P
RQ ROZ Yy RQ
;ll ! 12
- Q
DI <I Biv Biv
(OL=L= 6R ’ 3R
Biv 2B/lv
(2)II=_IZ=T’I= R
NI =I BIEVI 2B/lv
$L=L= 3R>~ 3R
Biv
(4)11=12=I=T

In the following circuit, when the switch is

closed the bulb will not glow :-

L
—— WO

L mr— 3|

S/._|=

(1) For all time

(2) Only at t =0

(3) Only when t — o0
(4)Bothatt=0& t > ©

For a planet having mass equal to mass of the
earth but radius is one fourth of radius of the
earth, Then escape velocity for this planet will
be :-

(1) 11.2 km/sec.

(2) 22.4 km/sec.

(3) 22.4 m/s.

(4) 44.8 km/sec.

125.

126.

127.

Teh TSR ¢4 § Teh Tt e PQ hi TS /
a gfeig R Q §1 98 FegaR v =re | TiemmE §
g U qHEY TrIh g &5 B § 1@ 7 ¥, foraent
T T T & ST T SRR | T aRE [, 1, aen
I Bt -

p /'
RQ ROZ Yy RQ
;ll ! 12
- Q
01 =1 v Biv
(O =1 6R ’ 3R
Biv 2B/lv
QI =-1= R ,I= R
NI =I Biv 2B/lv
®L=L= 3R’ 3R
Biv
(4)11=12=I=T

T uftay & St o= o1 o fopan <tran & oot 2t
ST -

L
—— WO

L mr— 3|

S/._|=

(1) R w72 < fere

Q) FaAt=0W

(3) el q& S t —> 0 B

@) t=03t— 0T W

Tk U FIeeht g geait o srer aig forean gesft
T = w1 = § @ 35 U8 % fore ger o
B :-

(1) 11.2 km/sec.

(2) 22.4 km/sec.

(3) 22.4 m/s.

(4) 44.8 km/sec.

Yowr Target i to secane Good Rank in Pre-MWedical 2015

|E/H




Puct 10 S

128.

129.

130.

131.

132.

133.

(E/H/J

MAJOR TEST : AIIMS

CAREER INSTITUTE

PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE

29-05-2013

In the following circuit, the galvanometer gives
zero deflection. The value of resistance X will
be —

(1) 3 ohm —~ +i F -
(2) 6 ohm [ W T——Wi—]
(3) 9 ohm | sor | s
(4) 18 ohm MW

Four resistance carrying a current as shown in
the figure are immersed in a box containing
ice at 0°C. The amount of ice that must be put
in the box every 5.6 minute to keep the average
quantity of ice in the box constant will be :-

500 500
10A VVVVY VVVVY
— >
500 500Q
(1) 1200 gm (2) 9000 gm
(3) 250 gm (4) 5000 gm

A ray of light is incident on an equilateral glass
prism (u = /3) and moves parallel to the base

of the prism inside it. The angle of incidence
for this ray is :-

(1) 60° (2) 45° (3) 30° (4) 90°
The speed of light in medium whose critical
angle is 45°.

(1) 2.0 x 10* m/s

(2) 2.1 x 10® m/s

(3) 2.4 x 10® m/s

(4) 2.5 x 10® m/s

4
A diver at a depth 12 m inside water (u = E)

sees the sky in a cone of semi vertical angle :-

(1) sin™ (i) (2) tan™ (i)
3 3

(3) sin” G) (4) 90°

If wavelength of incident light is changed from
4000 A to 3600 A, then change in stopping
potential will be-
(1)+034V
3)+040V

(2) - 0.54 V
(4) = 0.40 V

128.

129.

130.

131.

132.

133.

yefefa uftay # arrmrdt v fade ) fafa d %, @
Hieig X 1AM © —

(1) 3 ?Eﬁ'!:[ 2Q +I i_ 3Q
(2) 6 3™ AP o
(3) 9 32ﬁ'l:[ 29Q 90
(4) 18 ™ X

IR gy H FeeaR 9 98 W 3R §91 0°C W

% & ST U Wad & | ST | 9ok 5.6 fafe d
ST STl % i T, A1 o § 9% i T

feR @, 3t -

00 200
o N
500 500Q
(1) 1200 gm (2) 9000 gm
(3) 250 gm (4) 5000 gm

HHATE 9 & 990 (u = f3) T IR 1 forty

arafad Bt & qe foed & TR 2MHR & =R St
T 39 fRT o fIeH T ¥ -

(1) 60°  (2)45°  (3)30°  (4)90°
39 A1EAH H YhTET T S 1 SN foreeh ferd swifden
I 45° ¥

(1) 2.0 x 10® m/s

(2) 2.1 x 10% m/s

(3) 2.4 x 10* m/s

(4) 2.5 x 10® m/s
12 m Y T TR Weh TG o1 STEHM ¥k o SRR
1 Teli BT & Al Tich, ShT SHeaier o | 10 BT -

(1) sin™ (i) (2) tan™' (i)
3 3

(3) sin”! G) (4) 90°

Ffe srafad geher aleEd 4000 A° ¥ 3600 A° B
St ® PR fava 3 afteds -

(1) +034V 2)-054V

3)+040V 4)-040V
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. An a-particle and a proton are tired through

the fields
perpendicular to their velocities . The a particle

same magnetic which is
and the proton move such that radius of
curvature of their path is same ratio of their
de Broglie wavelength is :-

H1:4 2)1:2

3)4:1 (4) None of these
When monochromatic X-rays (A = 1A) pass
through a thin film of gold of thickness 3mm,
its intensity reduces to half. The coefficient of
absorption of the gold is-

(1) 0.231 mm ' (2) 0.231 cm’'

! (4) Ea—
3

3) % mm

In the following nuclear reaction

LAY + He* — P* + X, X represents-

M @H  @Ga @,

Two lighter nuclei are fused together to form

a nucleus of medium atomic mass and energy

is released in this process because-

(1) Binding energy of lighter nuclei is more.

(2) Binding energy per nucleon of lighter nuclei
is more.

(3) Binding energy per nucleon of medium
nucleus is more.

(4) Energy is absorbed when two nuclei are
fused.

Assuming the junction diode to be ideal, then

calculate current through 3 kQ resistance : -

5VT 3kQ

VWV

7kQ
(1) 0.5 mA (2) 1 mA
(3) 2 mA (4) 3 mA

In an n—p-n transistor (in common emitter
mode) 10!° electrons enter the emitter in
10-° sec. Only 2% of the electrons are lost
in the base. Calculate the base current.
Charge on electron is 1.6 x 107" C.

(1) 0.032mA (2) 0.32mA

(3) 3.2mA (4) 32mA

134.

135.

136.

137.

138.

139.

Teh o, 0T AT T WIS hl Tk & Tk i & H 39
TR AU foa o e 3eh o Tfew & o ate
¥ 1 o T T WM 39 YR T d © fof 7 9
1 STghaT oo T 1 3T S Sielt ol St

I © -
(1H1:4 2)1:2
3)4:1 (4) TTH 9 = T

Tehautt X-fehTol (L = 1A°) 519 G i gdent 3 e
foreett ¥ YR 21t € o SR 1 dieran el 1@ St g

G T STO T[0T §-

(1) 0.231 Tt (2) 0.231 G-
1 2

3) 3 Tt 4) 3 Tt

=1 et fohen | A1 + He* — | PP + X #

X Teme &

1 _ e @) H 3 OB

Tl g AT o ToTa H Teh HEIH THTY] R T

Tferes afan & TSl e Sewfsta gl €, srifer-

(1) B TH Y T2 Soll 2ATaH T

(2) T I i Ui Fferereii= s Sl SATHh T

(3) HEEH A T Ui Fforasti s Sell 114
gl

(4) T TRt 1 faam @ et stawifoa @id
gl

GfY SHEIE =1 TS A gU 3 kQ H 9 =78 arett g™
T TTUAT SIS |

5VT 3kQ

VWV

7kQ
(1) 0.5 mA (2) 1 mA
(3) 2 mA (4) 3 mA

TS n—p-n I (SWAFTSS s Afafa=ma) §
101 R 1076 Hepve § Scdieh T Ja91 HLd B
T Haet 2% TAFI SR H &l To2 B 71 TR &R

1 IO fRTSIT | ST IR 3TERT 1.6 X 1079 C %:-
(1) 0.032mA (2) 0.32mA
(3) 3.2mA (4) 32mA
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In the given figure, B is magnetic field at P due
to shown segment AB of an infinite current
carrying wire. A loop whose centre coincides
with wire, is taken as shown in figure. Which
of the following statement is correct.

G

(1) PB-dl = p,i

Mol
2nr

(3) Magnetic field at P will be tangential
(4) None of these

(2) B=

140.

yefefa fo # o o eRTETE dR @ Uefeid o
AB & &RV P R gk &7 B ¥ | foa A wefefa
o o ST € et s AR & A © 0 9@t

e g |

G

A
(1) PB-dl = p,i
_ Ml
@B=
(3) P R Trah g & TIREg §
(4) TT8 § FE T

DIRECTIONS FOR Q. NO. 141 TO 200

Yyd 9% 141 ¥ 200 & fou s

These questions consist of two statements
each, printed as Assertion and Reason. While
answering these Questions you are required
to choose any one of the following four
responses.

Y 991 A HYF a1 R feu 1 € | gl
& B Hid gug {9 feu e SRl fawe o
q wEt famew &1 gHw)

(E/H/J

Hg,Cl, is equal to 0.1 M AICI; solution.

Reason :- 0.1 M AICI; and 0.1 M Hg,Cl,
solution contains same number of particles in
solution.
(H A (2) B

3 C “4 D

A. If both Assertion & Reason are True & the | A. I FeA QH HRU A Ted § qU FRY KA
Reason is a correct explanation of the T TE TSR T
Assertion. . ,

B. If both Assertion & Reason are True but | B- IR FITE FRUT A T €, AfHT BT, Fied
Reason. is not a correct explanation of the HT Gl TeHT0T &l T
Assertion. T

C. If Assertion is True but the Reason is False C. AR FHuT 7 ¥, FY ST |

D. If both Assertion & Reason are false. D. YT 9 R S A § |

141. Assertion :- KCl and NH,CI can not be used in | 141. %7 :- T ¥a f5&# Ag’, Hg)" T T/ TR BRI
salt bridge of a cell containing Ag”, Hg?r and ¥, @0 ¥ ® KCl aen NH,C! S ¥ =@ ferq s
T/ ions. g B
Reason :- Cell will be destroyed due to FHRT ;- ] FANEES & ATV o HRU TA T &
precipitation of metal chloride. ST
A @B  (®C @D A @B - HCc @b

142. Assertion :- The vapour pressure of 0.1 M 142. %97 :- 0.1 M Hg,Cl, %1 a9 51 0.1 M AICI,

foer & ser 3 7
RO :- 0.1 M AICL, 71 0.1 M Hg,Cl, fae=m
# Ul i HEn A B

(1 A (2)B 3 C “4 D
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Assertion :- Avogadro number is a dimensionless

quantity.

Reason :- 1t is a number of atoms or molecules
in one gram mole.

1A 2)B 3)C 4 D
Assertion :- For each 10°C rise of temperature
the specific rate constant is nearly doubled.
Reason :- Energy wise distribution of

molecules in a gas is an exponetial fraction of

temperature
(1) A (2)B 3)C (4) D
Assertion :- The heat absorbed during the

isothermal expansion of an ideal gas against
vaccum is zero.

Reason :- The volume occupied by the
molecules of an ideal gas is neglegible.
A 2)B 3)C 4 D
Assertion :- CHCI, is more acidic than CHF,.
Reason :- The conjugate base of CHCI, is more
stable than CHF,.

A 2)B 3)C 4 D
Assertion :- Introduction of inert gas to a
gaseous reaction at equilibrium, keeping
pressure constant shifts the equilibrium in
forward direction.

Reason :- Due to introduction of inert gas the
partial pressure of various reactants and
products decreases.

A 2)B 3)C 4 D
Assertion :- In crystal lattice, the size of the
cation is larger in a tetrahedral hole than in an
octahedral hole.

Reason :- The cations occupy more space than
atoms in crystal packing.

A 2)B 3)C 4 D
Assertion :- V,0, is diamagnetic and orange
coloured solid.

Reason :- This is due to d - d transition.
1A 2)B 3)C 4 D
Assertion :- F, is stronger oxidising agent than O,.
Reason :- F is more electronegative than oxygen.
A 2)B 3)C 4 D
Assertion :- He & Ne does not form clathrate
compound with quinol.

Reason :- He & Ne shows very high Ionisation
potential.
(H A 2)B

3 C 4D

143.

144.

14S.

146.

147.

148.

149.

150.

151.

FYT ;- AETE G T fouEE i g
FROT ;- I8 T W9 Al § A a1 ST i
=& %)

(1 A 2B 3 C 4D
FY ;- AIHH H Yo 10°C 9¢d & e fafime X
IEREERSUEU R RIC R AR

FROT:- TG H 707 7 1 St o STTER foawot arame
1 =RETIHE el Bl ¢ |

(1 A (2B 3 C 4D

F - Teh eyl 19 &1 f7afd & Qi el Tqarare
THR & R ST 6 A1 1 919 3T S © |
FRT ;- ST TG o AU GRS AT A=A 70
U

(L A (2)B (3)C 4) D
%97 :- CHF, &1 37981 CHCI, %1 afures s €|
ROT ;- CHCL, =1 ST &R, CHF, =1 31981
a1ferek Temedt 2 ¥

(L A (2)B (3)C 4) D

FY ;- TR <19 R T W fwd i stfufean
T arest T foem W 9= o1 foen § g 2

FHIT:- ST 19 T o 10T SAFehTIeh] qe Scaral
% STIfYTeh <& 1 & | T

(1 A 2)B 3)C 4D
FHY:- TR SeTeh H I 1 STHR, THAR A
o5 1 eTeT TgohorR T fog | afere 2 g1
FROT ;- Toh=a Heho | ¥FEH, QAT hi 3TaeT
31freh T SRA ¥ |

(1 A 2)B 3)C 4D
F7 :- V,0, Yfagrasig qen I 3te g
T

FRY:- T8 d - d GHAT & HRY ST ¥ |

(1) A (2) B (3) C 4) D
Y7 :- O, Fi o # F, Toc1 ST ¢ |
FR - FARN 1 TSRO ST § 1ok T
(1) A (2) B (3) C 4) D
9T :- He T Ne A & 919 FAYS &
T

R :- He d Ne 1 3Tcafersh 3=a1 3119 faoa 2rar
T
(1) A

(2)B 3 C “4 D
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Assertion :- Magnetic moment of K,[Fe(CN),] | 152. &&7 :- K,[Fe(CN).] k1 JFIHTA S?T‘E[\Tf
is more than K,[Fe(CN)]. K,[Fe(CN),] ¥ @1 3 & |

Reason :- Magnetic moment of K,[Fe(CN),] is

V35 and of K,[Fe(CN),] is v24 BM.

(H A 2)B 3)C 4 D
Assertion :- Ti can be purified by van Arkel
process.

Reason :- Ti I, is volatile and decomposes at
higher temperature.

(H A 2)B 3)C 4 D
Assertion :- =C — Cl+ MF—=C - F + MCl
above reaction proceed better with KF than NaF.
Reason :- NaF is more ionic than KF

(H A 2)B 3)C 4 D
Assertion :- In carbyl amine reaction isocyanide
is obtained.

Reason :- In this reaction electrophile is
carbene.
(1) A (2)B 3)C (4) D

Assertion :- Sucrose is non reducing sugar.
Reason :- Formation of glycosidic linkage in
between C, of a-Glucose and C, of B-fructose.
(H A 2)B 3)C 4 D
Assertion :- Buna-N is condensation polymer.
Reason :- Buna-N is formed by condensation
of 1,3-Butadiene and acrylonitrile.

(1) A (2)B 3)C (4) D
Assertion :- Cis-1,3-dimethyl cyclohexane is
optically inactive.

Reason :- There is plane of symetry.

(H A 2)B 3)C 4 D
Assertion :- Aniline is less basic than pyrole.

Reason :- In pyrole nitrogen is sp’ hybridised.
1) A (2)B 3)C (4) D

Assertion :- I\EIBHrCHfCHfCHs is more acidic
than HO-CH,-CH,-CH,.

Reason :- CH,—CH,—~CH,—~OH does not react
with NaNH,.

() A (2)B (3)C (4) D
Assertion :- Bacetria are complex in behaviour

Reason :- Bacteria show most diverse
metabolism
() A (2) B 3)C 4) D

153.

154.

15S.

156.

157.

158.

159.

160.

161.

FRUT :- K,[Fe(CN) ] &1 Frahid ATe(

V35 BM @1 K [Fe(CN),] T /24 BM ¥ |
(1) A (2) B (3) C (4) D
F97 - Ti 1 YIGHT0T A Aehdd Tafe g o s
T

RO ;- Ti [, ATRAe © e 3= ard W ferafea &
AR

(1A (2) B 3)C (4) D
FY7:- SC - Cl + MF—>=C - F + MC| SR
a1faferan KF §R1 NaF &1 g 8 31fere 2t 21
R :- NaF 1 afs @eor KF 9 31fye T
(A (2) B 3)C (4) D
FHY ;- Hifercd THIA Tfufeman T THEEAES S
2

FRT ;- 39 AfUfwar | H1foH T TR
2

(1) A (2) B (3) C

FYT - GohISl Teh SHTIEIR IR S|
FRY :- 0TS C, T B-TRS & C, % A
TATEhTTTES e T T |

(1) A (2) B (3) C
97 :- Buna-N T HoH gl
RV :- Buna-N, 1,3-Butadiene Td acrylonitrile
F WO 9 I B

(A (2) B 3)C (4) D
FYT ;- TAIE-1,3-SEAS TgFA SR TR
fafera 7

HRT ;- TG T 3ufeed ¥

(1) A (2) B (3) C

FYT ;- TeAA, PRI F FH & T
FRT - TR | AE2ISH sp’ Fhikd B
(A (2) B (3)C (4) D

4D

“4 D

“4 D

FYT :- I\EIBHrCHZ—CHfCHs & AT e
HO-CH,-CH,-CH, ¥ 31y %1

%RV :- CH,~CH,~CH,~OH NaNH, & s 78
AT T

(1) A (2) B (3) C 4) D
FYT :- ST FTER § Tcd=d Sifee B S
FHITUT ;- AT Fga e Iura=at fafasar
GRS
(H A (2)B

3 C “4 D
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Assertion :- Deuteromycetes are commonly | 162. FT :- SISIHEIES &I FH=TE 0 FHoh
known as imperfect fungi. *gd B

Reason :- Asexual repr.oductlon in FRO - TR 3 s S e
deuteromycetes takes place with the help of b

conidia. BT

(1) A 2) B (3) C 4) D (H A 2)B 3)C 4) D
Assertion :- Reptiles are characterised by the | 163. HY .- TIYT Y o FRIAPIES 1 g3 AT fead
presence of dry and cornified skin. gL 7

Reason :- Reptiles are endothermic, dry skin = W@W%%HNWWW
regulate their body temperature % AT T FafE w5

(1) A (2)B 3)C (4) D 1) A 2) B 3) C 4) D
Assertion :- Always one ovule is present in an | 164, FY7 ;- VSV T THIN TH srorve feord gran

ovary.
Reason :- Ovule is always haploid.

(1) A (2)B 3)C (4) D
Assertion :- If the head of cockroach is cut off,
it will still live for as long as one week.
Reason :- In the head region of cockroach, no
part of nervous system is present.

A 2)B 3)C 4) D
Assertion :- Golgi apparatus remain in close
association with the endoplasmic reticulum.
Reason :- Materials to be packaged in the form
of vesicles from the ER fuse with forming face
of the golgi appiratus.

1A 2)B 3)C 4) D
Assertion :- Meristem culture produce virusfree

plants.

Reason :- Virus cannot infect the shoot
meristem.

(H) A 2) B 3)C 4) D

Assertion :- Atlas-66 variety of wheat is used
as a donor for improving cultivated plants.
Reason :- Atlas-66 have high protein content.
(H A 2)B 3)C 4 D
Assertion :- "Sonalika" is improved variety of
maize.

Reason :- It is developed by hybridisation.
(H A 2)B 3)C 4 D
Assertion :- EMP pathway of respiration occurs
in the cytoplasm of the cell.

Reason :- In EMP pathway, glucose undergoes
complete oxidation to form two molecules of
pyruvic acid.

(H A (2)B

3 C 4D
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(1) A (2) B (3) C (4) D

F YT ;- g 1 T2AH-66 ToheH 1 ITAmT Haftd ared
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FRY ;- TAT-66 | W ¥k 3TAfersh 2 2
(H A (2)B 3) C 4 D
FYT ;- "HATAR" Tkl 1 390 fhEH B

FRY ;- IE G g Fohfaa &t T T
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Reason :- Decapitation is widely applied in tea
plantation.
(1) A

Assertion :

(2) B 3)C 4) D
Inbreeding is necessary if we want

to evolve a pureline.

Reason : Inbreeding exposes harmful recessive

gene that are eliminated by selection.

1) A (2)B 3 C “4 D

Assertion :- A fall in GFR can activate the JG
cells to release renin.

Reason :- ADH causes reabsorption of salts and
water from the distal parts of the tubule.

(H A 2)B 3)C 4D
Assertion :- The day light (photopic) vision and
colour vision are functions of cones and the
twilight (scotopic) vision is the function of the
rods.

Reason :- When all three types of cones are
stimulated equally, a sensation of white light
is produced.

(H A 2)B 3)C 4 D
Assertion :- The placenta acts as an endocrine
tissue.

Reason :- The placenta is connected to the
embryo through an umblical cord which help
in the transport of substance to and from the

embryo.
() A (2) B 3 C (D)
Assertion :- The Probability of DNA

polymorphism would be higher in non codeing
DNA sequences.

Reason :- Mutations in these sequences have
immediate effect on an individuals reproductive
ability.

(H A (2) B 3)C 4 D
Assertion :- Recombinant colonies will produce
blue color in the medium having X-gal
compounds

Reason :- The gal gene of vector does not
show insertional inactivation by foreign DNA
(H A 2)B 3)C 4 D
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Assertion :- Many cancers are curable.
Reason :- If these are detected early and
appropriate therapeutic measures are taken.
(1) A (2)B 3)C (4) D
Assertion :- Niche overlapping is a result of
resources partitioning.

Reason :- 1t is done to avoid competition when
resources are unlimited.

(1) A (2)B 3)C (4) D
Assertion :— Nutrient immobilisation prevents
the nutrients from being washed out from the

ecosystem.

Reason :— In nutrient immobilisation Soil

nutrients get tied up with the biomass of microbes.
(1) A (2)B 3)C (4) D

Assertion :- A particle in one dimensional motion
with constant speed must have zero acceleration.
Reason :- Zero acceleration implies that velocity
must be constant in magnitude as well as direction.
(1) A (2)B 3)C (4) D
Assertion :- For uniform motion of a particle,
velocity at all the instant is same as the average
velocity.

Reason :- If a particle moving along a straight line
covers equal distance in equal intervales of time,
it is said to be in uniform motion along straight line.
(1) A (2)B 3)C (4) D
Assertion :- By pressing a block against a
rough wall, one can balance it.

Reason :- Smooth walls can not hold the block
by pressing the block against the wall, however
high the force is exerted.

(H A 2)B 3)C 4 D
Assertion : A spring has potential energy, both
when it is compressed or stretched.

Reason : In compressing or stretching, work
is done on the spring against the restoring force.
(1) A (2)B 3)C (4) D
Assertion : Mass and energy are not conserved
separately, but are conserved as a single entity
called mass-energy.

Reason : Mass and energy conservation can be

obtained by Einstein equation for energy.
(1) A (2)B 3)C (4) D
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Assertion : In absence of external torque, if
moment of inertia of a rotating body changes,
then its angular momentum is conserved ; but
it's K.E changes.

Reason : In absence of external torque angular

momentum J = Io = const. and K.E of rotation =

l1(02

2

1) A (2) B 3)C 4) D
Assertion :- If a gas follow any of the gas laws
then it is necessary that it will also follow ideal
gas equation.

Reason :- All gas laws can also be derived from
ideal gas equation.

(H A 2)B 3)C 4 D
Assertion :- For an ideal gas in the isobaric
compression and adiabatic expansion cooling
effect will be produced.

Reason :- Work done by any process does not
depend on temperature work done only
depends on volume.

(H A 2)B 3)C 4 D
Assertion : A particle executing SHM takes less
time to travel distance from x = 0 to x = A/2 as
compare to time taken in travelling the distance
from x = A/2 to x = A.

Reason : As the particle comes near to the
mean position of SHM, its velocity increases.
1) A 2B 3) C 4 D
Assertion :— A balloon filled with CO, gas acts
as a converging lens for a sound wave.
Reason :— Sound waves travel faster in air than
in CO,.

(H A 2)B 3)C 4 D
Assertion :- For an electric lamp connected in
series with a variable capacitor and ac source, its
brightness increases with increase in capacitance.
Reason :- Capacitive reactance decreases with
increase in capacitance of capacitor.

1) A 2B 3)C 4 D
Assertion :- If a compass needle be kept at
magnetic north pole of the earth, the compass
needle may stay in any direction.

Reason :- Horizontal component of earth
magnetic field is zero at magnetic pole.

1A 2B 3 C 4 D
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Assertion :- For making permanent magnets | 193. & :- TR T oM o ¢ T4 @IS i o
el ST © |

steel is preferred over soft iron.

Reason :- As retentivity of steel is smaller.
1A 2B 3 C 4 D
Assertion :— In series combination of electric
bulbs the bulb of lower power emits more light
than that of higher power bulb.

Reason :— The lower power bulb in series gets
more current than the higher power bulb.

1 A 2) B 3)C (4) Dw
Assertion :— The coil of a heater is cut into two
equal halves and only one of them is used into
heater. The heater will now require double the
time to produce the same amount of heat.
Reason :— H = I’Rt so H « 2.

1 A 2) B 3)C 4) D
Assertion :- Colours are seen in thin layers of
oil on the surface of water.

Reason :- White light is composed of seven
colours.

A 2)B 3)C 4 D
Assertion :- Heavy water is used as a moderator
in nuclear reactor.

Reason :- Neutrons are absorbed by the heavy
water hence controlled chain reaction occurs.
A 2)B 3)C 4 D
Assertion :- 1 curie = 3.7 x 10* rutherford
Reason :- 1 curie = 3.7 x 10" disintegration/s
1A 2)B 3)C 4 D
Assertion :- Two metals A and B have work
function 3 eV and 5 eV. Metal B has lower
threshold of wavelength for photoelectric
effect.

hc

Ao

(1) A (2)B 3)C (4) D
Assertion :- At 0 K Ge is a superconductor.

Reason :- ¢ = hv, =

Reason :- If 0 K Ge offers zero resistance.
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